Academic Algebra 1
Chapter 6 Practice Test (2023)

NOTE: 8 pts each unless otherwise stated

Draw a graph for each inequality. (2pts each)
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Write an inequality for each graph b elow the graph. Use the variable "X" and circle our

answer. (2pts each)
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(6PTS) SOLVE each inequality. Circle the solution. Then GRAPH its solution.
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SOLVE each inequality. Circle the solution. Then GRAPH its solution.
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(6PTS) SOLVE each compound inequality. Circle the solution. Then GRAPH its solution.
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(continue) SOLVE each compound inequality. Circle the solution. Then GRAPH its solution.
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BONUS (+2,+4) solve absolute value equations ( 6.
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